Zum kleinen Einmaleins

Aufgabe 1

1. 20 : 10 =
2. 40 :10 =
3. 10 : 10 =
400120 2 =
5 20 :10 =
6. 10 : 5 =
7 6 : 1 =
Aufgabe 2

.10 : 1 =
2. 40 :5 =
3 7 o1 =
4 o1 =
5 1 :1 =
6. 18 :2 =
7 4 :2 =
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2 O 5 O 8 () 7
5 () 4 () 3 () 10
L0 2l 9/l 1
6 () 2 () 8 () 5
8 () 3 O 6 (O 2
6 () 3 () 10 () 2
6 () 7 () 10 () 4
5 () 10 () 4 () 2
3. ) 8 () 6 () 7
2 O 1O PO 6
o0 3 O 4 O 9
S (O 1 () 5 () 6
3. O 9 O 6 (O 1
2 O 1 O 5 () 8
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Kernaufgaben uben [1] | ANTWORTEN

Zum kleinen Einmaleins

Aufgabe 1
1. 20:10=|I] O 5 0O 8 (O 7
2. 40:10= () O o 3 & 10
sowi0- 0 70 2 O 9 (@ 1|
i 2:2-|@ 6] 0 2 0O 8 O 5
5. 22:10= O 8 O 3 O ¢ @ ?
4 10:5-= 0 6 O 3 O 10 |@ 2
76 1= o 7010 ) 4
Aufgabe 2

Lot O 5 @ 10| O 4 O 2
2. 40 :5= () 3 @ 8 6 o7
3. 7 1= O 2 O El 6
A 1=|I] o3 0O 4 )9
5 1:1=0 9 |@ 1/ 0O 5 O 6
s 18:2- 0O 3 @ 9 O 6 O 1
A 2=E o 1 O 5 () 8
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